Gt l/jdj ’ L wawéw :v_s—)// 4&{ 4419/4/ —fﬁex\ \7"4/01/\ \
GAS MILEAGE

Story: \L’jhxrh‘/\\j volue Equation:  fovided Jor d"“é‘: '"itialvala:[m
() 4
Your car has _[() gallons of gas. 1 -
You use up 1 gallon for every Y _Ex +L£(1\ G, /0) @E
Z0 _ miles you travel. -int
i = ﬁOﬁb )( 5 4‘ ‘) Rate of Change:@
e

T N Wae) | rise _ =L [T
20 ‘ Tun .- AD | 20

al
Graph: Table of Values: \\y 5‘/’6114’ Aéré,(
\ Using Gas Miles Gallons LeS+
=i : -
13 : .
0 = ~20(0)+10
.f %% ~ 7; (O 42 (0"O>
_uterfy” T on 20 = ~50(%) 14 20 7)
v k=== é Hlais O
: j ¥ | 40 3
- B 60
i /
. = ; 80
; ] L
0 10 20 30 40 50 60 70 80 90 100// i
Miles Traveled

T A TR AT

P

5 T ORIy S T L




Tzlﬂ(& ;’9 6~r [\

Do bheHow half Jirst

——

e

wﬁrt GUESTS .

Initial Value:

Story: Equation:

To host a party at a local
restaurant, you must pay $ 1) to
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